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SAITTHAUEH
AL
A)ToT—3y AL 486H(AH) 538 #H =
9:00 ~
4 A98(K) 538 HE
9:00 ~
FHERZH AR ERE T E
RBEEHMPES ERFHE 4 A98(K) PAL 6
11:40 ~ 12:10
FRRAE 4 A 16 B (K) 322 H=E
12:30 ~ 13:00
4 B 23 BH(K) 538 #H =
12:30 ~ 13:00
HEE
AT oT—23v 2ER 486H(AH) 538 #H =
13:10 ~ 14:40
4 89 H(CK) 538 #H =
13:10 ~ 14:40
FHERZ 2 FER 48 48(1) PAL 6
10:30 ~ 11:00
RBEEHMPES FRRAE 4 A9A8(K) PAL 6
14:50 ~ 15:20
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9:00 ~
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9:00 ~
FHERZH AR ERE T E
RBEEHMPES ERFHE 4 A9A8(K) PAL 6
11:40 ~ 12:10
FRRAE 4 A 16 B(K) 322 H=E
12:30 ~ 13:00
4 B 23 BH(K) 538 H=E
12:30 ~ 13:00
HEE
AV oT—3v 2ER 486H(AH) 332 H=E
13:10 ~
4 89 H(K) 332 H=E
13:10 ~
FHEERDN 2GR 4A48((L) PAL 6
10:00 ~ 10:30
RBEEHMPES FRRAE 4 A98(K) PAL 6

14:50 ~ 15:20






